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Mystery Picture
Solve the word problems. 
First, circle the correct answer. 
Then, color the letter of the question with the correct color. 
Done? Practice 10 word problems at www.mathwordproblems.com. 
You can play a math game afterward!
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Word Problems

A. In a furniture store, Oliver has to pay $2,900. He pays in cash, using only $50 bills. 
How many $50 bills does Oliver need?

29 bills 58 bills 60 bills 38 bills

B. William buys 5 books. He has to pay $19.80 at the cash register. 
About how much money does one book cost?

5 dollars 7,50 dollars 4 dollars 6 dollars

C. It is now 2:00 in the afternoon. The party starts in 2 hours and 35 minutes. 
What time does the party start?

04:25 pm 04:35 pm 04:25 am 04:35 am

D. 365 people will go by bus to a concert. 
One bus can hold 70 people. How many buses are needed to transport everyone?

4 buses 6 buses 5 buses 8 buses

E. There are 1,312 trees in a forest. 
478 trees were cut down. How many trees are left in the forest?

834 trees 832 trees 844 trees 934 trees

F. Nicole buys four games for $12.95 each. 
How much money should she pay?

Done? Practice 10 word problems at www.mathwordproblems.com. 

$48.95 $51.80 $48 $51.60



Word Problems
G. 5 out of 30 children came to school by bike. 
What fraction of the children came to school by bike?

1/10 1/5 1/20 1/6

H. Jerry had $1,540 in his savings bank account. He withdrew $1,335. 
How much money does he have now in his savings bank account?

$165 $2,875 $215 $205

I. Nina is reading a book with 432 pages. She is now halfway through the book. 
How many more pages does Nina have to read?

215 pages 218 pages 216 pages 214 pages

J. 5 out of 20 children wear glasses. 
Which fraction best represents this?

K. Owen puts 360 cookies into bags of 4 pieces each. 
How many bags can Owen fill?

9 bags 90 bags 80 bags

L. Half of the 578 eggs break. 
How many eggs have been broken?

289 eggs 285 eggs 239 eggs 235 eggs

Done? Practice 10 word problems at www.mathwordproblems.com. 

8 bags



Word Problems

M. The baker has baked cookies. He has 3 boxes of 36 cookies each. 
Then he puts the cookies into bags of 4 pieces each. How many bags can he fill?

9 bags 108 bags 27 bags 54 bags

N. The chicken pen held 6 chickens. Each chicken lays 3 eggs a day. 
How many eggs would they get altogether after 30 days?

18 eggs 180 eggs 270 eggs 540 eggs

O. Nora buys 1/3 of a pie. The whole cake costs $18. 
How much money does 1/3 of the cake cost?

9 dollars 3 dollars 12 dollars 6 dollars

Done? Practice 10 word problems for free at www.mathwordproblems.com. 
You can play a math game afterward!



Answers
Solve the word problems. 
First, circle the correct answer. 
Then, color the letter of the question with the correct color. 
Done? Practice 10 word problems at www.mathwordproblems.com. 
You can play a math game afterward!
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Thank you for downloading. 
I hope this recourse is fun and

engaging for your students!
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